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ALGEBRA AND NUMBER SENSE
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PROPORTIONAL REASONINGIn the class there are 12 boys and 8 girls, what percentage of the class are boys?
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                      									HINT:  cost per gram
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MEASUREMENT:
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What is the volume of the cylinder?
[image: ]
RELATIONSHIPS

[image: ]
[image: ]
[image: ]




image6.png
An ice cream shop sells ice cream cones
that each contain an average of 525 cm?®
of ice cream. The ice cream is served from
the following cylindrical tub.

Ice Cream Tub | 45 cm

About how many cones can be made from
a full tub of ice cream with the dimensions
shown?
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Ashley runs around the following track.

s 100 m -
¥ T
| |
| |
i i
e60m .
i i
i i
| |
— —
+ i1

How many times must she run around the track in order to run a total distance of 4 km?

Show your work.

Hint:
1km = 1000 m
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‘Which of the following statements is true
about the graph for weekends?

“The weekend graph goes trongh the
‘point (0.0).

The weekend graph stays the sume a5
the weekday gaph.

The nitial costis the same bt the
weekend graph i steeper than the
weekday graph.

The nitial costis the same but the
weekend graph i les steep tha the
weekday graph.
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Totdl cost (5)
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On weskends,the fat fee remains the same
bt the costper kilomete i less.
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‘There are two bowling alleys in town.

‘The total cost of bowling at Ten Stipes Bowling is represented by the graph below. Ten Stipes.
offers free shoe rental.

Total Gost vs. Number of Games
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‘The total cost of bowling at Supreme Bowling is $4 for shoe rental plus $3 per game.
Completethe chart.

“Ten Stripes Bowing ‘Supromo Bowing
Theintalvaluels . e il valua s
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Justiication of cheica of type of variaion: | Justfication of choioe of typs of varaton:
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What is the value of the expression (g)
when x = 187
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One day, the temperature at 5 p.m. is 4 °C.
For the next 6 hours, the temperature drops
2°C every hour. What i the temperature
at1l pm?

a 2°C
b -2°C
¢ -6°C
d -8°C




image13.png
‘Tommy uses the proportion below to
determine the amount of butter, x, to
use with 120 grams of sugar in his
cookie recipe.

2_x

370

How many grams of butter does Tommy
need?

a 40
b 80
c 180
d 240
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The chart below shows the mass and the
cost for different brands of cookies.

Brand | Mass (g) | Cost($)
1 200 199
2 250 229
3 300 289
4 450 429

Which brand costs the least per gram?
a Brand1

b Brand2
¢ Brand3
d Brand4
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A carpenter is building a rectangular gate
for a fence, as shown below.

What are the values of x and y?
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Digging Around

A hydraulic arm swings from Point B to Point A, as shown in the diagram below.

Determine the values of x and y.

Justify your answers using geometric properties.
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‘The water container below needs to be
filled.
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Gordon has a circular pool in his backyard,
as shown below.

Which of the following is closest to the area
of the lawn surrounding the pool?

a 335m?
b 342m?
¢ 2015m?
d 2486m?
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‘The graph below shows the relationship between the cost of renting a gym and the amount of time
the gym is used.
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Determine the hourly rental rate.
‘The hourly rental rate is
Show your work.
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A graph representing the cost of Option A
is shown below.

Cost vs. Number of Games
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Option B charges $30 for unlimited bowling.
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Which of the following is true?

Option A is always cheaper.
Option B is always cheaper.

Option A is cheaper for fewer than
15 games.

Option B is cheaper for fewer than
15 games.
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Which value of x makes the equation
1++/x =10 true?

a 3
b 9
c 18
d 81
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‘Which expression is a simplified form of
—2x(—4x + 3)?

8x2 — 6x

8x? + 6x

—8x* -3

—8x2 +3
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Consider the diagram below.

23°
X
56°
‘What is the value of x?
a 23°
b 56°
c 79

d 101°
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Tierney goes to the movie theatre
and has $20 to spend on treats.

Soft drink $2.29
Chocolate bars $1.69
Popcomn $3.49

She buys two soft drinks, a chocolate
bar and popcorn. She also pays 13% tax.

How much change should Tierney receive
from her $20?

a $897
b $9.76
¢ $11.03
d $11.55
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Consider the diagram below.
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‘Which equation is true?
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